
‘H’ Series 3 and 5 Valve
Differential Pressure 
Manifolds
Catalog	
  4190-FM

aerospace
climate control
electromechnical
filtration
fluid & gas handling
hydraulics
pneumatics
process control
sealing & shielding

www.automa.com.my



14 14 15 15 16 16 17 17 18 18 19 23

Su
ffi

x 
ad

di
ng

se
qu

en
ce

Function Read Option Detail
Part 
no.

suffix HD
*5

M

HD
*5

HD
*5

M
FF

HD
*5

CT

HD
*5

EX
T

HD
*5

M
CP

HF
*5

HF
*5

8N

HE
F*

5C
T

HE
F*

58
NC

T

HL
*5

M
+H

P

Option Detail

1 Gland packing Graphoil 3 STD Graphoil
2 Seating PCTFE (207 bar/3000 psi) 9 PCTFE tip (207 bar/3000 psi)

PEEK tip PK PEEK tip
Note 1 Roddable/rising plug, PTFE packed RP Roddable/rising plug, PTFE packed

Stellite Tip ST Stellite Tip
3 Optional connections Note 2 Purge ports 1/4 NPT UPP* Purge ports 1/4 NPT

Note 2 Test ports 1/4 NPT DTP* Test ports 1/4 NPT
4 Blank Plugs Hexagon plugs 1/4 NPT (loose in box) P Hexagon plugs 1/4 NPT (loose in box)
5 Connection Note 3 Socket weld (* insert pipe size) SW*NB Socket weld (* insert pipe size)

Butt weld (* insert pipe size) BW*NB Butt weld (* insert pipe size)
BSPT (* insert thread size e.g. 8K = 1/2”) *K BSPT (* insert thread size e.g. BK = 1/2”)

Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R BSPP (* insert thread size e.g. 8R = 1/2”)
Inverted connections A-LOK/CPI *A/*Z Inverted connections A-LOK®/CPI™
PTFree connect (see page 22) PTFree connect™ (see page 22)

Note 5 DIN 19213 instrument seal grooves DIN** DIN 19213 instrument seal grooves
6 Operating mechanism Lockable ‘T’ Bar THL Lockable ‘T’ Bar

(seepage 5 for Anti tamper spindle AT Anti tamper spindle
functional definition) Anti tamper spindle + key ATK Anti tamper spindle + key

Handwheel HW Handwheel
Lockable handwheel LHW Lockable handwheel

7 Mounting Note 6 Assembled to bracket BRK Assembled to bracket
56mm centres 56 56mm centres
57mm centres 57 57mm centres
Stainless steel mounting bolts 7/16 UNF SSB Stainless steel mounting bolts 7/16 UNF
M10 x 1.5 C.S. mounting bolts CSB10 M10 x 1.5 C.S. mounting bolts
M10 x 1.5 stainless steel mounting bolts SSB10 M10 x 1.5 stainless steel mounting bolts

8 Condition NACE (latest issue) NACE NACE (latest issue)
Cleaned and lubricated for oxygen use OXY Cleaned and lubricated for oxygen use
Firesafe design FS Firesafe design

Note 7 Heat code trace certificates HCT Heat code trace certificates
Test certificates TC Test certificates
Air testing PT Air testing

Manifold part nos.
‘H’ series 3 and 5 valve manifolds

Note 1 Seat material RP = standard acetal, RP9 = PTCFE, RPPK = PEEK.
Note 2 *Specify face F = front, T = top, B = base (check viability of size and position with sales).
Note 3 For tube socket use 1/16” denominations (i.e. 8 = 1/2”) and change NB to TB.
For metric tube size use actual metric (mm) dimensions e.g. SW12MMTB.
Note 4 For test/purge connections in BSPP these will, due to sealing face requirements be limited to 1/8/” as standard.
Note 5 **Insert seal type B1, B2, or B3.
Note 6 Bracket will include ‘U’ bolts and manifold/bracket bolts.
Note 7 Heat code traceable certificates for body and bonnet.

HD
*5

HD
*5

M
FF

14 14 15

Part no.
suffix HD

*5
M

15Contents Page 3	
   Introduction

Page 4/5	
   Bonnet	
  assembly	
  details	
  and	
  options

Page 6/7	
   Manifold	
  key	
  features	
  

Page 8	
   3	
  Valve	
  direct	
  mount	
  manifold

Page 9	
   3	
  Valve	
  direct	
  mount	
  manifold

Page 10	
   3	
  Valve	
  direct	
  mount	
  manifold

Page 11	
   3	
  Valve	
  direct	
  mount	
  manifold
	
   Compact	
  cast	
  body	
  style	
  

Page 12	
   3	
  Valve	
  remote	
  manifold
	
   High	
  pressure	
  style

Page 13	
   3	
  Valve	
  manifold
	
   3051	
  and	
  Miniature	
  style

Page 14	
   5	
  Valve	
  direct	
  mount	
  manifold

Page 15	
   5	
  Valve	
  direct	
  mount	
  manifold

Page 16	
   5	
  Valve	
  direct	
  mount	
  manifold
	
   3051	
  and	
  base	
  entry	
  style

Page 17	
   5	
  Valve	
  direct	
  mount	
  manifold
	
   Compact	
  cast	
  body	
  style

Page 18	
   5	
  Valve	
  direct	
  mount	
  manifold

Page 19	
   5	
  Valve	
  remote	
  manifold
	
   High	
  pressure	
  style

Page 20	
   PTFree	
  connect™

Page 21	
   B31.1	
  compliant	
  power	
  plant	
  manifolds

Page 22/23	
   Manifold	
  bracket	
  mounting

Page	
  24-27	
   Manifold	
  options

Page 4/5	
   Bonnet	
  assembly	
  details	
  and	
  options

Page 24-27	
   Manifold	
  options

Manifold types

Stainless steel Std
S

CAST

Monel

M

Duplex 

D1

Super Duplex 
D2

Hasteloy

HC

Carbon Steel

C

6Mo

6MO

Material

*Insert code 

for selected 

material in 

part number

All non-wetted parts ie those not in contact with the process medium will be supplied in stainless steel.

HD*5

HD*5M

HD*5EXT

HD*5CT

HL*5

HL*5M

HF*58N HEF*58NCT HD*5MFF

HEF*5CT

HF*5

Note 1 Seat material RP = standard acetal, RP9 = PTCFE, RPPK = PEEK.

Note 2 *Specify face F = front, T = top, B = base, S = side (check viability of size and position with sales).

Note 3 For tube socket use 1/16” denominations (i.e. 8 = 1/2”) and change NB to TB.

For metric tube size use actual metric (mm) dimensions e.g. SW12MMTB.

Note 4 For test/purge connections in BSPP these will, due to sealing face requirements be limited to 1/8” as standard.

Note 5 **Insert seal type B1, B2, or B3.

Note 6 Bracket will include ‘U’ bolts and manifold/bracket bolts.

Note 7 Heat code traceable certificates for body and bonnet.

HD
*3

HD
*3

EX
T

8 8 9

Page

Su
ffi

x 
ad

di
ng

se
qu

en
ce

Part no.
suffix

Options for three valve manifolds
Manifold part nos.

Manifold part nos.

Function
Read

Option Detail

Option Detail

1 Gland packing

Graphoil

3

Graphoil

2 Seating

PCTFE tip

9

PCTFE tip

  

PEEK tip

PK

PEEK tip

  

Note 1 Roddable/rising plug, PTFE packed
RP

Roddable/rising plug, 

PTFE packed

  

Stellite Tip

ST

Stellite Tip

3 Optional connections Note 2 Purge ports 1/4 NPT

UPP*

Purge ports 1/4 NPT

  

Note 2 Test ports 1/4 NPT

DTP*

Test ports 1/4 NPT

4 Blank plugs

Hexagon plugs 1/4 NPT (loose in box)
P

Hexagon plugs 1/4 NPT 

(loose in box)

5 Connection
Note 3 Socket weld (* insert pipe size)

SW*NB

Socket weld (* insert 

pipe size)

  

Butt weld (* insert pipe size)
BW*NB

Butt weld (* insert pipe 

size)
  

BSPT (* insert thread size e.g. 8K = 1/2”) *K

BSPT (* insert thread 

size e.g. BK = 1/2”)

  

Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R

BSPP (* insert thread 

size e.g. 8R = 1/2”)

  

Inverted connections A-LOK/CPI
*A/*Z  

 
 

 

Inverted connections 

A-LOK/CPI

  

PTFree connect (see page 22)

PTFree connect (see 

page 22)

  

Note 5 DIN 19213 instrument seal grooves
DIN**

DIN 19213 instrument 

seal grooves

6 Operating mechanism  Lockable ‘T’ Bar

THL

Lockable ‘T’ Bar

  (see page 5 for
Anti tamper spindle

AT

Anti tamper spindle

  functional definition) 
 Anti tamper spindle + key

ATK

Anti tamper spindle + 

key
  

Handwheel

HW

Handwheel

  

Lockable handwheel

LHW

Lockable handwheel

7 Mounting
Note 6 Assembled to bracket

BRK

Assembled to bracket

  

56mm centres

56

56mm centres

HD
*3

M
+D

TP

Page 28	
   Material	
  matrix

2

Page 29	
   Complementary	
  Products

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

3

of	
  selection	
  and	
  choice	
  for	
  all	
  Instrument	
  applications	
  and	
  installations.	
   	
   	
  
®	
  and	
  

CPI™	
  and	
  the	
  innovative	
  Phastite®	
  

in	
  this	
  catalogue	
  are	
  

connections	
  improving	
  

safety	
  factors	
  and	
  	
  
simplifying	
  installation	
  
and	
  ultimately	
  reducing	
  
customer	
  costs.

Continuous	
  product	
  
development	
  may	
  from	
  
time	
  to	
  time	
  necessitate	
  
changes	
  in	
  the	
  details	
  
contained	
  in	
  this	
  
catalogue.	
  

the	
  right	
  to	
  make	
  
such	
  changes	
  at	
  their	
  

in	
  this	
  catalogue	
  are	
  

to	
  change.

Introduction

WARNING

www.automa.com.my



4

‘H’ series 3 and 5 valve manifolds

Pressure vs temperature

0 100 200 300 400 500
(32) (212) (392) (572) (752) (932)

10,000
(690)

8,000
(552)

6,000
(413)

4,000
(275)

2,000
(138)

0

Pressure
psi (bar) A - A  Graphoil packing

A - B  PTFE packing
B - B   6000psi (414 bar) 

standard PTFE packing
B - C   6000 psi (414 bar) 

standard Graphoil 
packing

A - D  PEEK tip
C - E  PCTFE tip

Temperature
°C (°F)

A

B

C

E D B C A

1. POSITIVE HANDLE RETENTION DESIGN

2. “T” BAR

4. GLAND PACKING ADJUSTER

6. VALVE BONNET

8. THRUST BUSH

10. BONNET/BODY WASHER

3. DUST CAP

5. GLAND ADJUSTER LOCK NUT

7. ANTI BLOWOUT SPINDLE

9. GLAND PACKING (ADJUSTABLE)

11. SPINDLE TIP

Features
	
   	
  
	
   	
  
	
   	
  
	
   	
  
	
   	
  	
  	
  
	
  

	
   	
  
	
   	
  Panel	
  mounting	
  
	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
   	
  
	
   	
  

	
   	
  

Specification

For safe reliable and 
repeatable performance

www.automa.com.my



‘H’ series 3 and 5 valve manifolds
Optional manifold globe style bonnet design
For on-site assembly

For factory fitted assembly

Lockable handwheel

Standard bonnet T bar handle locking Anti tamper spindle

Handwheel *Panel mounting B31.1 Compliant

†

HW

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Three and five valve manifolds for direct or remote mounting
Purpose

Manifold key features (example)

Manifold marking:

Test/Drain Equalize Test/Drain

IsolateIsolate

MANIFOLD BODY: 

PROCESS INLET CONNECTIONS DRAIN/BLEED CONNECTIONS

BONNET ASSEMBLIES:
	
  

FUNCTIONAL COLOUR
CODING:

www.parker.com

414 BAR (6000 PSI) MAX

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Three and five valve manifolds for direct or remote mounting

Test/Drain Equalize Test/Drain

IsolateIsolate

INSTRUMENT SIDE, OUTLET, FLANGE CONNECTIONS:
PRESSURE RATING:

MANIFOLD TO TRANSMITTER MOUNTING: MANIFOLD BASE/BRACKET MOUNTING:

Bolts:

Seal rings:

Pressure vs temperature

0 100 200 300 400 500
(32) (212) (392) (572) (752) (932)

10,000
(690)

8,000
(552)

6,000
(413)

4,000
(275)

2,000
(138)

0

Pressure
psi (bar) A - A  Graphoil packing

A - B  PTFE packing
B - B   6000psi (414 bar) 

standard PTFE packing
B - C   6000 psi (414 bar) 

standard Graphoil 
packing

A - D  PEEK tip
C - E  PCTFE tip

Temperature
°C (°F)

A

B

C

E D B C A

Material:	
  Products	
  in	
  this	
  catalogue	
  are	
  

to	
  the	
  technical	
  section.

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Three valve manifold

Three valve manifold
Compact	
   design	
   particularly	
   suited	
   for	
   enclosure	
   installation	
   and	
   for	
   direct	
   mounting	
   to	
   differential	
   pressure	
  

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*3M 1/2” NPT Flanged -
HD*3MDTP 1/2” NPT Flanged 1/4” NPT

d
p

d
p

d
p

Standard With test ports With purge ports

d
p

d
p

d
p

Standard With test ports With purge ports

HD*3MDTP

HD*3

138.0
(5.43”)

28.6
(1.13”)

63.5
(2.50”)

107.6
(4.24”)

HD*3MDTP

HD*3

110.0
(4.33”)
211.6

(8.33”)

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*3 1/2” NPT Flanged Optional

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Three valve manifold

Three valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*3EXT 1/2” NPT Flanged Optional

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*3MFF Flanged Flanged Optional

d
p

d
p

d
p

Standard With test ports With purge ports

d
p

d
p

d
p

Standard With test ports With purge ports

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

HD*3EXT

HD*3MFF

110.0
(4.33”)
211.6
(8.33)

HD*3EXT

HD*3MFF

114.3
(4.50”)
215.9

(8.50”)
88.9

(3.50”)

38.1
(1.50”)

114.3
(4.50”)

www.automa.com.my



10

‘H’ series 3 and 5 valve manifolds

Three valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HEF*38N 1/2” NPT Flanged Optional

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HEF*3 Flanged Flanged Optional

d
p

d
p

d
p

Standard With test ports With purge ports

d
p

d
p

d
p

Standard With test ports With purge ports

HEF*38N

HEF*3

98.5
(3.88”)

200.1
(7.88”)

62.0
(2.44”)

101.6
(4.00”)

31.8
(1.25”)

82.6
(3.25”)

97.7
(3.85”)

31.8
(1.25”)

96.4
(3.80”)

62.0
(2.44”)

HEF*38N

HEF*3

98.5
(3.88”)

200.1
(7.88”)

Three valve manifold

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

11

Three valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HF*38N 1/2” NPT Flanged Optional

Three valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HF*3 Flanged Flanged Optional

d
p

d
p

d
p

Standard With test ports With purge ports

d
p

d
p

d
p

Standard With test ports With purge ports

67.0
(2.64”)

61.5
(3.76”)

113.4
(7.01”)

HFS38N

HFS3

85.8
(3.38”)

187.4
(7.38”)

67.0
(2.64”)

61.5
(3.76”)

113.4
(7.01”)

HFS38N

HFS3

85.8
(3.38”)

187.4
(7.38”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Three valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HL*3M 1/2” NPT 1/2” NPT Optional
HL*3MDTP 1/2” NPT 1/2” NPT 1/4” NPT

Three valve manifold for 10,000 psig (689 bar)

d
p

d
p

d
p

Standard With test ports With purge ports

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HL*3MHP 1/2” NPT 1/2” NPT Optional

d
p

d
p

d
p

Standard With test ports With purge ports

HL*3MDTP

HL*3MHP

54.0
(2.125”)
120.0

(4.72”)

220.0
(8.66”)

63.5
(2.50”)

28.6
(1.13”)

79.4
(3.13”)

HL*3MDTP

HL*3MHP

54.0
(2.125”)
132.0

(5.20”)
232.0

(9.14”)

76.2
(3.00”)

31.8
(1.25”)

82.6
(3.25”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

13

Three valve manifold for model 3051 transmitter

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*3MCP 1/2” NPT For 3051 Optional

d
p

d
p

d
p

Standard With test ports With purge ports

HD*3MCP

63.5
(2.50”)

107.6
(4.24”)

33.0
(1.30”)
110.0

(4.33”)
211.6

(8.33”)

28.6
(1.13”)

www.automa.com.my



14

‘H’ series 3 and 5 valve manifolds

Five valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5M 1/2” NPT Flanged 1/4” NPT

Five valve manifold
Compact	
   design	
   particularly	
   suited	
   for	
   enclosure	
   installation	
   and	
   for	
   direct	
   mounting	
   to	
   differential	
   pressure	
  

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5 1/2” NPT Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Test/
drain

Process Test/
drain

HD*5M

HD*5

138.0
(5.43”)
239.6

(9.43”)

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

HD*5M

HD*5

152.4
(6.00”)
254.0

(10.00”)

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Five valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5MFF Flanged Flanged 1/4” NPT

Five valve custody transfer/fiscal metering manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5CT 1/2” NPT Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Process Drain Process

HD*5MFF

HD*5CT

HD*5MFF

HD*5CT

138.0
(5.43”)
239.6

(9.43”)

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

152.4
(6.00”)
254.0

(10.00”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Five valve manifold

Five valve manifold for model 3051 transmitter

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5EXT 1/2” NPT Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Standard

Test/
drain

Process Test/
drain

Standard

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HD*5MCP 1/2” NPT Flanged 1/4” NPT

HD*5EXT

HD*5MCP

114.3
(4.50”)
215.9

(8.50”)

114.3
(4.50”)

145.5
(5.73”)

38.1
(1.50”)

88.9
(3.50”)

HD*5EXT

HD*5MCP

33.0
(1.30”)

239.6
(9.43”)

138.0
(5.43”)

107.6
(4.24”)

63.5
(2.50”)

28.6
(1.13”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Five valve manifold

Five valve manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HF*5 Flanged Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Standard

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HF*58N 1/2” NPT Flanged 1/4” NPT

Test/
drain

Process Test/
drain

HFS58N

HFS5

85.8
(3.38”)

187.4.1
(7.38”)

95.4
(3.76”)

30.0
(1.18”)

178.1
(7.01”)

HFS58N

HFS5

85.8
(3.38”)

187.4
(7.38”)

178.1
(7.01”)

95.4
(3.76”)

30.0
(1.18”)

67.0
(2.64”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Five valve custody transfer/fiscal metering manifold

Five valve custody transfer/fiscal metering manifold

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HEF*5CT Flanged Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Option

Process Drain Process

Standard

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HEF*58NCT 1/2” NPT Flanged 1/4” NPT

Test/
drain

Process Test/
drain

Option

Process Drain Process

Standard

HEF*5CT

HEF*58NCT

98.5
(3.88”)

200.1
(7.88”)

62.0
(2.44”)

96.4
(3.80”)

31.8
(1.25”)

97.7
(3.85”)

HEF*5CT

HEF*58NCT

98.5
(3.88”)

200.1
(7.88”)

62.0
(2.44”)

101.6
(4.00”)

31.8
(1.25”)

82.6
(3.25”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Five valve manifold

Five valve manifold for 10,000 psig (689 barg)

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HL*5M 1/2” NPT 1/2” NPT 1/4” NPT

Part No. Inlet/process Outlet/inst. Drain/bleed/test
HL*5MHP 1/2” NPT 1/2” NPT 1/4” NPT

Test/
drain

Process Test/
drain

Process Drain Process

Standard Option

Test/
drain

Process Test/
drain

HL*5M

HL*5MHP

HL*5M

HL*5MHP

221.6
(8.72”)

54.0
(2.125”)

120.0
(4.72”)

79.4
(3.13”)

28.6
(1.13”)

63.5
(2.50”)

82.6
(3.25”)

31.8
(1.25”)

76.2
(3.00”)

HL*5M

HL*5MHP

233.6
(9.20”)

54.0
(2.125”)

132.0
(5.20”)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

AAA

Manifold connections

™

pin	
  locked	
  and	
  pressure	
  tested.
™

™

™

Inlet, Outlet, Drain/vent/test, tube size/thread size & form

Manifold  Connection Style A-LOK®(L) or Metric or inch Inlet (E) + size Outlet (X) + size Drain/vent/testPart No. + option FRC or FRCM CPI™(B) L or B tube M or I

HDS5M FRC L M E12 Flanged D6
Part No.  HDS5MFRCLME12D6 = 5 valve direct mount manifold with A-LOK® PTFree connect™ Inlet - 12mm o.d., Outlet Flanged,
Drain/test - 6mm. Stainless steel construction
HLS3M FRC B I E6 X6 –
Part No.  HLS3MFRCBIE6X6 = 3 valve remote manifold with CPI™ PTFree connect™ Inlet - 3/8” o.d., Outlet 3/8 o.d.
Stainless steel construction

PTFree connect™

AA

A = 29.70mm (1.17”) 6mm/1/4” tube
A = 35.00mm (1.38”) 10mm tube
A = 35.00mm (1.38”) 3/8” tube

A = 31.50mm (1.25”) 6mm/1/4” tube
A = 36.60mm (1.44”) 10mm tube
A = 36.60mm (1.44”) 3/8” tube

PTFree connect™
(Code FRC)

PTFree male connectors
(Code FRCM)

Part number construction examples

A

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

H Series Hand valves & manifolds	
  

Power plant products - compliant with ANSI B31.1

Features

®

316 SS

Plus a range of manifolds:

Part numbering & Product range offered:

Pressure vs temperature

       0     100     200     300   400   500   600   700   800   900   1000

7000 (483)

6000 (414)

5000 (345)

4000 (276)

3000 (207)

2000 (138)

1000 (69)

0 Temperature
°F (°C)

Pressure
psi (bar)

(-18)    (38)   (93)  (149) (204)   (260) (316) (371)  (427)  (482)  (538)

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Manifold bracket support
Purpose

Part No. BKT2CS

BKT5CSBKT2CS

35.0
(1.38”)

145.0
(5.71”)

10.0
(0.39”)

71.0
(2.80”)

71.0
(2.80”)

90.0
(3.54”)

BKT5CSBKT2CS

30.0
(1.18”)

90.0
(3.54”)

90.0
(3.54”)

71.0
(2.80”)

71.0
(2.80”)

Part No. BKT5CS

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Manifold bracket support

Manifold/bracket bolts
c/w nuts and washers

‘U’ Bolt with nuts and washers 
for 2” NB standpipe
Part No. UBACS

SuffixManifold Part No. Bolting Set Part No.Manifold Part No. g   

HL*3M M8 x 45 Bolt + Nuts BS5 5
HL*3MDTP M8 x 45 Bolt + Nuts BS5 5
HL*3MHP M8 x 45 Bolt + Nuts BS5 5
HL*5M M8 x 45 Bolt + Nuts BS5 5
HL*5MCT M8 x 45 Bolt + Nuts BS5 5
HL*5MHP M8 x 45 Bolt + Nuts BS5 5
HD*3M M10 x 14 Bolt BS2 2
HD*3MDTP M10 x 14 Bolt BS2 2
HD*3MFF M10 x 14 Bolt BS2 2
HD*3MCP M10 x 14 Bolt BS2 2
HD*3 M10 x 14 Bolt BS2 2
HD*5M M10 x 14 Bolt BS2 2
HD*5MFF M10 x 14 Bolt BS2 2
HD*5MCP M10 x 14 Bolt BS2 2
HD*5CT M6 x 14 Bolt BS6 6
HD*5 M6 x 14 Bolt BS6 6
HEF*38N M6 x 45 Bolt + Nuts BS4 4
HEF*3 M6 x 45 Bolt + Nuts BS4 4
HEFS58NCT M6 x 45 Bolt + Nuts BS4 4
HEFS5CT M6 x 45 Bolt + Nuts BS4 4

Part No. BKT4CS

BKT3CS

BKT4CS

67.0
(2.64”)

120.0
(4.72”)71.0

(2.80”)

71.0
(2.80”)

90.0
(3.54”)

BKT3CS

BKT4CS

85mm
(3.35”)

BKT3CS

BKT4CS

35.0
(1.38”)

71.0
(2.80”)

71.0
(2.80”)

90.0
(3.54”)

145.0
(5.71”)

10.0
(0.39”)

Part No. BKT3CS

Manifold Bolting Set Part No. Suffix

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

Note 1 Seat material RP = standard acetal, RP9 = PTCFE, RPPK = PEEK.
Note 2 *Specify face F = front, T = top, B = base, S = side (check viability of size and position with sales).
Note 3 For tube socket use 1/16” denominations (i.e. 8 = 1/2”) and change NB to TB.
For metric tube size use actual metric (mm) dimensions e.g. SW12MMTB.
Note 4 For test/purge connections in BSPP these will, due to sealing face requirements be limited to 1/8” as standard.
Note 5 **Insert seal type B1, B2, or B3.
Note 6 Bracket will include ‘U’ bolts and manifold/bracket bolts.
Note 7 Heat code traceable certificates for body and bonnet.

HD
*3

HD
*3

EX
T

8 8 9Page

Su
ffi

x 
ad

di
ng

se
qu

en
ce

Part no.
suffix

Options for three valve manifolds Manifold part nos. Manifold part nos.

Function Read Option Detail Option Detail

1 Gland packing Graphoil 3 STD Graphoil
2 Seating PCTFE tip 9 PCTFE tip

  PEEK tip PK PEEK tip
  Note 1 Roddable/rising plug, PTFE packed RP Roddable/rising plug, PTFE packed
  Stellite Tip ST Stellite Tip

3 Optional connections Note 2 Purge ports 1/4 NPT UPP* Purge ports 1/4 NPT
  Note 2 Test ports 1/4 NPT DTP* Test ports 1/4 NPT

4 Blank plugs Hexagon plugs 1/4 NPT (loose in box) P Hexagon plugs 1/4 NPT (loose in box)
5 Connection Note 3 Socket weld (* insert pipe size) SW*NB Socket weld (* insert pipe size)

  Butt weld (* insert pipe size) BW*NB Butt weld (* insert pipe size)
  BSPT (* insert thread size e.g. 8K = 1/2”) *K BSPT (* insert thread size e.g. BK = 1/2”)
  Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R BSPP (* insert thread size e.g. 8R = 1/2”)
  Inverted connections A-LOK®/CPI™ *A/*Z   Inverted connections A-LOK®/CPI™
  PTFree connect™ (see page 22) PTFree connect™ (see page 22)
  Note 5 DIN 19213 instrument seal grooves DIN** DIN 19213 instrument seal grooves

6 Operating mechanism  Lockable ‘T’ Bar THL Lockable ‘T’ Bar
  (see page 5 for Anti tamper spindle AT Anti tamper spindle
  functional definition)  Anti tamper spindle + key ATK Anti tamper spindle + key
  Handwheel HW Handwheel
  Lockable handwheel LHW Lockable handwheel

7 Mounting Note 6 Assembled to bracket BRK Assembled to bracket
  56mm centres 56 56mm centres
  57mm centres 57 57mm centres
  Stainless steel mounting bolts 7/16 UNF SSB Stainless steel mounting bolts 7/16 UNF
  M10 x 1.5 C.S. mounting bolts CSB10 M10 x 1.5 C.S. mounting bolts
  M10 x 1.5 stainless steel mounting bolts SSB10 M10 x 1.5 stainless steel mounting bolts

8 Condition NACE (latest issue) NACE NACE (latest issue)
  Cleaned and lubricated for oxygen use OXY Cleaned and lubricated for oxygen use
  Firesafe design FS Firesafe design
  Note 7 Heat code trace certificates HCT Heat code trace certificates
  Test certificates TC Test certificates
  Air testing PT Air testing

HD
*3

M
+D

TP

HD
*

HD
*3

EX
T

Su
ffi

x a
dd

ing
 

se
qu

en
ce Part no.

suffix

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

*Insert 9 PCTFE seat (option)
*Insert PK PEEK seat (option)

Description Part number Box quantity
 PTFE manifold/instrument seals HKITPTFESEALS 2
 Graphite manifold/instrument seals HKITGRAPHOILSEALS 2
 Isolate valve with PTFE gland, metal seat HBNTS*ISPTFE 1
 Drain/bleed valve with PTFE gland, metal seat HBNTS*DRPTFE 1
 Equalize valve with PTFE gland, metal seat HBNTS*EQPTFE 1
 Isolate valve with graphoil gland, metal seat HBNTSISGRAP 1
 Drain/bleed valve with graphoil gland, metal seat HBNTSDRGRAP 1
 Equalize valve with graphoil gland, metal seat HBNTSEQGRAP 1

HD
*3

FF

HE
F*

38
N

HE
F*

3

HF
*3

8N

HF
*3

HL
*3

M
+D

TP
+H

P

HD
*3

CP

M
LS

3V
4N

9 10 10 11 11 12 13 23

 Manifold part nos. Manifold part nos.

 Function Read Option Detail  Option Detail

 1 Gland packing  Graphoil 3 STD Graphoil
 2 Seating  PCTFE tip 9 PCTFE tip
    PEEK tip PK PEEK tip
   Note 1 Roddable/rising plug, PTFE packed RP Roddable/rising plug, PTFE packed
    Stellite Tip ST Stellite Tip
 3 Optional connections Note 2 Purge ports 1/4 NPT UPP* Purge ports 1/4 NPT
   Note 2 Test ports 1/4 NPT DTP* Test ports 1/4 NPT
 4 Blank plugs  Hexagon plugs 1/4 NPT (loose in box) P Hexagon plugs 1/4 NPT (loose in box)
 5 Connection Note 3 Socket weld (* insert pipe size) SW*NB Socket weld (* insert pipe size)
    Butt weld (* insert pipe size) BW*NB Butt weld (* insert pipe size)
    BSPT (* insert thread size e.g. 8K = 1/2”) *K BSPT (* insert thread size e.g. BK = 1/2”)
   Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R BSPP (* insert thread size e.g. 8R = 1/2”)
    Inverted connections A-LOK®/CPI™ *A/*Z    Inverted connections A-LOK®/CPI™
    PTFree connect™ (see page 22)  PTFree connect™ (see page 22)
   Note 5 DIN 19213 instrument seal grooves DIN** DIN 19213 instrument seal grooves
 6 Operating mechanism  Lockable ‘T’ Bar THL Lockable ‘T’ Bar
  (see page 5 for  Anti tamper spindle AT Anti tamper spindle
  functional definition)  Anti tamper spindle + key ATK Anti tamper spindle + key
    Handwheel HW Handwheel
    Lockable handwheel LHW Lockable handwheel
 7 Mounting Note 6 Assembled to bracket BRK Assembled to bracket
    56mm centres 56 56mm centres
    57mm centres 57 57mm centres
    Stainless steel mounting bolts 7/16 UNF SSB Stainless steel mounting bolts 7/16 UNF
    M10 x 1.5 C.S. mounting bolts CSB10 M10 x 1.5 C.S. mounting bolts
    M10 x 1.5 stainless steel mounting bolts SSB10 M10 x 1.5 stainless steel mounting bolts
 8 Condition  NACE (latest issue) NACE NACE (latest issue)
    Cleaned and lubricated for oxygen use OXY Cleaned and lubricated for oxygen use
    Firesafe design FS Firesafe design
   Note 7 Heat code trace certificates HCT Heat code trace certificates
    Test certificates TC Test certificates
    Air testing PT Air testing

B3
1.

1 
co

m
pli

an
t

Po
we

r P
lan

t

HD
*3

FF

HE
F*

38
N

HE
F*

3

HF
*3

8N

HF
*3

HD
*3

M
+D

TP
+H

P

HD
*3

CP

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

14 14 15 15 16 16 17 17 18 18 19 19

Power
Plant

Su
ffi

x 
ad

di
ng

se
qu

en
ce

Function Read Option Detail
Part 
no.

suffix HD
*5

M

HD
*5

HD
*5

M
FF

HD
*5

CT

HD
*5

EX
T

HD
*5

M
CP

HF
*5

HF
*5

8N

HE
F*

5C
T

HE
F*

58
NC

T

HL
*5

M
+H

P

Option Detail

1 Gland packing Graphoil 3 STD Graphoil
2 Seating PCTFE (207 bar/3000 psi) 9 PCTFE tip (207 bar/3000 psi)

PEEK tip PK PEEK tip
Note 1 Roddable/rising plug, PTFE packed RP Roddable/rising plug, PTFE packed

Stellite Tip ST Stellite Tip
3 Optional connections Note 2 Purge ports 1/4 NPT UPP* Purge ports 1/4 NPT

Note 2 Test ports 1/4 NPT DTP* Test ports 1/4 NPT
4 Blank Plugs Hexagon plugs 1/4 NPT (loose in box) P Hexagon plugs 1/4 NPT (loose in box)
5 Connection Note 3 Socket weld (* insert pipe size) SW*NB Socket weld (* insert pipe size)

Butt weld (* insert pipe size) Butt weld (* insert pipe size)BW*NB
BSPT (* insert thread size e.g. 8K = 1/2”) *K BSPT (* insert thread size e.g. BK = 1/2”)

Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R BSPP (* insert thread size e.g. 8R = 1/2”)
Inverted connections A-LOK®/CPI™ *A/*Z Inverted connections A-LOK/CPI
PTFree connect™ (see page 22) PTFree connect (see page 22)

Note 5 DIN 19213 instrument seal grooves DIN** DIN 19213 instrument seal grooves
6 Operating mechanism Lockable ‘T’ Bar THL Lockable ‘T’ Bar

(seepage 5 for Anti tamper spindle AT Anti tamper spindle
functional definition) Anti tamper spindle + key ATK Anti tamper spindle + key

Handwheel HW Handwheel
Lockable handwheel LHW Lockable handwheel

7 Mounting Note 6 Assembled to bracket BRK Assembled to bracket
56mm centres 56 56mm centres
57mm centres 57 57mm centres
Stainless steel mounting bolts 7/16 UNF SSB Stainless steel mounting bolts 7/16 UNF
M10 x 1.5 C.S. mounting bolts M10 x 1.5 C.S. mounting boltsCSB10
M10 x 1.5 stainless steel mounting bolts SSB10 M10 x 1.5 stainless steel mounting bolts

8 Condition NACE (latest issue) NACE NACE (latest issue)
Cleaned and lubricated for oxygen use OXY Cleaned and lubricated for oxygen use
Firesafe design FS Firesafe design

Note 7 Heat code trace certificates HCT Heat code trace certificates
Test certificates TC Test certificates
Air testing PT Air testing

Page

Manifold part nos.

Note 1 Seat material RP = standard acetal, RP9 = PTCFE, RPPK = PEEK.
Note 2 *Specify face F = front, T = top, B = base (check viability of size and position with sales).
Note 3 For tube socket use 1/16” denominations (i.e. 8 = 1/2”) and change NB to TB.
For metric tube size use actual metric (mm) dimensions e.g. SW12MMTB.
Note 4 For test/purge connections in BSPP these will, due to sealing face requirements be limited to 1/8” as standard.
Note 5 **Insert seal type B1, B2, or B3.
Note 6 Bracket will include ‘U’ bolts and manifold/bracket bolts.
Note 7 Heat code traceable certificates for body and bonnet.

www.automa.com.my



14 14 15 15 16 16 17 17 18 18 19 23

Su
ffi

x 
ad

di
ng

se
qu

en
ce

Function Read Option Detail
Part 
no.

suffix HD
*5

M

HD
*5

HD
*5

M
FF

HD
*5

CT

HD
*5

EX
T

HD
*5

M
CP

HF
*5

HF
*5

8N

HE
F*

5C
T

HE
F*

58
NC

T

HL
*5

M
+H

P

Option Detail

1 Gland packing Graphoil 3 STD Graphoil
2 Seating PCTFE (207 bar/3000 psi) 9 PCTFE tip (207 bar/3000 psi)

PEEK tip PK PEEK tip
Note 1 Roddable/rising plug, PTFE packed RP Roddable/rising plug, PTFE packed

Stellite Tip ST Stellite Tip
3 Optional connections Note 2 Purge ports 1/4 NPT UPP* Purge ports 1/4 NPT

Note 2 Test ports 1/4 NPT DTP* Test ports 1/4 NPT
4 Blank Plugs Hexagon plugs 1/4 NPT (loose in box) P Hexagon plugs 1/4 NPT (loose in box)
5 Connection Note 3 Socket weld (* insert pipe size) SW*NB Socket weld (* insert pipe size)

Butt weld (* insert pipe size) BW*NB Butt weld (* insert pipe size)
BSPT (* insert thread size e.g. 8K = 1/2”) *K BSPT (* insert thread size e.g. BK = 1/2”)

Note 4 BSPP (* insert thread size e.g. 8R = 1/2”) *R BSPP (* insert thread size e.g. 8R = 1/2”)
Inverted connections A-LOK/CPI *A/*Z Inverted connections A-LOK®/CPI™
PTFree connect (see page 22) PTFree connect™ (see page 22)

Note 5 DIN 19213 instrument seal grooves DIN** DIN 19213 instrument seal grooves
6 Operating mechanism Lockable ‘T’ Bar THL Lockable ‘T’ Bar

(seepage 5 for Anti tamper spindle AT Anti tamper spindle
functional definition) Anti tamper spindle + key ATK Anti tamper spindle + key

Handwheel HW Handwheel
Lockable handwheel LHW Lockable handwheel

7 Mounting Note 6 Assembled to bracket BRK Assembled to bracket
56mm centres 56 56mm centres
57mm centres 57 57mm centres
Stainless steel mounting bolts 7/16 UNF SSB Stainless steel mounting bolts 7/16 UNF
M10 x 1.5 C.S. mounting bolts CSB10 M10 x 1.5 C.S. mounting bolts
M10 x 1.5 stainless steel mounting bolts SSB10 M10 x 1.5 stainless steel mounting bolts

8 Condition NACE (latest issue) NACE NACE (latest issue)
Cleaned and lubricated for oxygen use OXY
Firesafe design FS

Cleaned and lubricated for oxygen use
Firesafe design

Note 7 Heat code trace certificates HCT Heat code trace certificates
Test certificates TC
Air testing PT

Test certificates
Air testing

Manifold part nos.

‘H’ series 3 and 5 valve manifolds

Accessories	
  and	
  spares

*Insert 9 PCTFE seat (option)
*Insert PK PEEK seat (option)

Description Part number Box quantity
 PTFE manifold/instrument seals HKITPTFESEALS 2
 Graphite manifold/instrument seals HKITGRAPHOILSEALS 2
 Isolate valve with PTFE gland, metal seat HBNTS*ISPTFE 1
 Drain/bleed valve with PTFE gland, metal seat HBNTS*DRPTFE 1
 Equalize valve with PTFE gland, metal seat HBNTS*EQPTFE 1
 Isolate valve with graphoil gland, metal seat HBNTSISGRAP 1
 Drain/bleed valve with graphoil gland, metal seat HBNTSDRGRAP 1
 Equalize valve with graphoil gland, metal seat HBNTSEQGRAP 1

B3
1.

1
co

m
pl

ia
nt

Po
w

er
 P

la
nt

27

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

For full material specification see 
technical section

Manifold types

Stainless steel Std S   CAST  
Monel M   
Duplex  D1   
Super Duplex  D2   
Hasteloy HC   
Carbon Steel C   
6Mo 6MO   
Titanium T   
Incoloy 825 825   
Inconel 625 625   

Material
*Insert code 
for selected 
material in 

part number

All non-wetted parts ie those not in contact with the process medium will be supplied in stainless steel.

Material options

HD*3M

HD*3

HD*3EXT

HL*3M

HD*3MCP

HD*3MFF

HEF*38N HF*38N
B31.1

compliant
Power Plant

HF*3HEF*3

HD*5MCP

Manifold types

Stainless steel Std S   CAST  
Monel M    
Duplex  D1    
Super Duplex  D2   
Hasteloy HC   
Carbon Steel C    
6Mo 6MO   
Titanium T    
Incoloy 825 825    
Inconel 625 625    

Material
*Insert code 
for selected 
material in 

part number

All non-wetted parts ie those not in contact with the process medium will be supplied in stainless steel.

HD*5

HD*5M

HD*5EXT

HD*5CT

HL*5

HL*5M

HF*58N HEF*58NCT HD*5MFF

HEF*5CTHF*5

28

www.automa.com.my



‘H’ series 3 and 5 valve manifolds

29

Please	
  contact	
  the	
  Instrumentation	
  division	
  or	
  one	
  of	
  our	
  many	
  distributors	
  for	
  more	
  information	
  on	
  our	
  range	
  of	
  
complementary	
  products.

Electrical	
  Temperature	
  Measurement

Parker Instrumentation now offers a wide range of complementary products    

Mechanical	
  Pressure	
  Measurement Condensate	
  Pots

Pressure	
  Gauge	
  Accessories Diaphragm	
  Seals

Parker	
  grade	
  tubing

www.automa.com.my


